Dy AR ADYE

<BEE>
. INSEATE
S S5/ e T Y 108 1A 125
=0 i A | & | AR | & | ATd | &F | AT | &F
DA IRAVE fiEl L 1 4,320 | 5,400 | 5400 | 5400
D AUI RNV [EA ]| 1 6,480 | 7,560
SR AU RAYE R 1 iz 7,560 | 7.560 | 7,560 8,640
S AU AAYR RS 1 s 1,944 | 2,160 | 1.944 | 2376 | 1,944
S REAGER) IR AUIRAVE &% 1 AL 2,970 2,970 | 2,970
AU AAVE R 1 4,320
SRAURRAV (KDL EH 1 6,480
AR RAYVE (1T 1 1,782
T AUI R AV EF 1 5,400
AR RAVE (1T} 1 4,320 5,400 5,400
v LU RAYE L 1 vy 3,980
DA ZPEF &L FE Ll 1 AL 5,400 | 5,400
AR A AV Ll 1 {E¥ERE 3,980
AR AAVE F# Ll 1 L[4 iE 5,724
S AU AAYR RS 1 /399 | 1980 | 1,980 | 1,980 | 1,980
P& PEF S D] =% 1 19 2,980 | 2,980 [ 2,980 | 2,980 | 2,980 | 2,980 | 2,980
SR AUIRAYE EH 1 A 3,980 3.980 3,980
BEEB(FRRK) | SvqovXAvk rH 1 AL 5.400
PAEES D] RE 1 &7 3,980
AR APV e 1 AP 1,980
LR RAYE miEd 1 %97 | 2980
AR APV e 1 XY | 3980
AR RABYE ITES 2 L HEFE 6.280
LR RAYE 8 1 /399 | 3980 | 3,980 | 3980
S AR AAYE 8 1 iz 4304 | 4,304
I AURRAAVE F& L 1 2,700 | 3,240 | 3,240
U AURAHAYE [0 1 5,400 5,400 | 5,400
BEEC(ARRK) | v/ RAvb R 1 Hv7 2,160
AR APV £H 1 AV 1,620
DX AURRAAVE RE 1 2,700 | 2,700 | 5,400 | 5400 | 5400
<EHRREZME>
. INSEATRE
S S5/ B T 95 108 A 125
4= it A | A | AR | B | ATH | B&F | AT | &F
X AUIRAYVE FE L 1 6,480 | 6,480
S AR RAAYE 210 1 gk 12,960 | 7,350 | 5,760
BREXFMAFEA(PRE)| v TRAYE Fhi 1 8,640
S AU RAYR &Il 1 gk 9,720 | 9,720
SR AURRAYE EF 1 W |14040
EREEEMEB HER) ZrAYRAAE A 1 A | eooa | 7o0e | 7000
AR RAAVE RE 1 &7 6,804 | 6,804

K= 1




Dy AR ADYE

<KEBRE>
N —2 ki
[EEhA /i i 9A 104 114 128
=H i AT | #H | AT | &F | BT | BF | w1 | BE
LU RAYE R 1 "y 980 | 1,280 | 980 | 1.706
KREBREACIRE)| vAoIRAYE EF 1 AL 537
S AURRBYE L 1 g 6,500
DA S PES SN G5 1 1,058
IR AR RIS R 1 AV 2,678 | 2,678
DAV RAVE fiEl L 1 6,458
RKEESRIECCIER) SvArIAhYE rH 1 AC2/) 1.058 | 1.058 | 1,382 1,382
XAV RAVE £ 1 AV 1,680 | 2,138
D EES CiLIS =5 1 1,058 3218
DX AURRAAVE LN 1 1,382 | 1,382

K= 2




